
INSTRUCTION MANUAL

FPMA-W950
Wandhalterung für Flachbildschirm

Taulutelevision seinätelineet

Fissaggio a perate per LCD

Soporte de pared para pantalla plana

Flatscreen wandsteun

Ecran plat montage mural

Vægbeslag til fl adskærmVægbeslag til fl adskærm

Flat screen wall mount



FPMA-W950

Step 1

Step 1a

Parts

10-40” Tape measure100x100/200x200mm Drill5 - 58 cm Pencill20 kg Tool

ST6.3x5 5  (x3)
W-A

concret e ancho r (x3)
W-B

3mm Allen key (x1)
B

6mm Allen key (x1)
C

D8 washe r (x4)
M-F

D5 washe r (x4)
M-E

small  space r (x8)
M-G

M5x1 4 (x4)
M-B

M6x1 4 (x4)
M-C

M8x2 0 (x4)
M-D

M4x1 4 (x4)
M-A

W-AX

W-B

W-A

60mm

(2.4")

60mm

(2.4")
ø 10mm

(ø 3/8") 

ø 4.5mm

(ø 3/16") 

55mm

(2.2")

55mm

(2.2")

NL Bevestiging aan houten balk

EN Attachment to wood stud wall

DE Befestigung an Holz Ständerwand

IT Fissaggio a parete in legno stallone

FR L’attachement à mur à ossature bois

ES Adjunto a la pared montante de madera

NL Bevestiging aan solide steen of beton

EN Solid brick and concrete block mounting

DE Befestigung an betonwanden

IT Allegato alla parete solida

FR Fixation au mur massif

ES Apego a la pared sólida



Notes

Step 3

option

Step 2

NL Bevestiging van de adapter steunen

EN Installing Adapter Brackets

DE Installieren Adapter Brackets

IT L’installazione di staffe di collegamento

FR fixer les supports adaptateurs

ES La instalación de soportes de adaptador

M-A/M- B
M-C/M- D

M-E
M-F

M-D

M-F

M-G

M-G

M-D

M-F

M-G

NL Het scherm aan de muursteun hangen

EN Attaching the screen onto the bracket

DE Die Halterung auf den Bildschirm Befestigen

IT Fissaggio della staffa sullo schermo

FR Fixation du support sur l’écran

ES Fijar el soporte en la pantalla

NL Gebruik afstandhouders indien nodig

EN Use spacers if necessary

DE Verwenden Sie Distanzscheiben wenn nötig

IT Utilizzare distanziatori, se necessario

FR fixer Utiliser des cales si nécessaire

ES Utilice separadores si es necesario



Step 5

Step 6

Step 8

Step 9

Step 7Step 4

FOLD 3

DUST CATCHER

NL Het scherm aan de muursteun hangen

EN Attaching the screen onto the bracket

DE Die Halterung auf den Bildschirm Befestigen

IT Fissaggio della staffa sullo schermo

FR Fixation du support sur l’écran

ES Fijar el soporte en la pantalla

NL Kabelmanagement

EN Routing Cables

DE Kabelmanagement

IT Gestione dei cavi

FR Gestion des câbles

ES De gestión de cables

NL Kabelmanagement

EN Routing Cables

DE Kabelmanagement

IT Gestione dei cavi

FR Gestion des câbles

ES De gestión de cables

NL Monteren afdekkappen

EN Mounting cover caps

DE Montage Kapseln

IT Tappi di montaggio

FR Caches de montage

ES Montaje de tapas

NL Instellen van het koppel

EN Adjusting torque

DE Einstellen Drehmoment

IT Regolazione di coppia

FR Réglage du couple

ES Ajuste de torque

NL Instellen van het koppel

EN Adjusting torque

DE Einstellen Drehmoment

IT Regolazione di coppia

FR Réglage du couple

ES Ajuste de torque

B

C


